H & 0l & AHS B Ml A

0248 =& 1 3 LBtaH JIEISEIH Ml 2024-05-28 20:37:22

SA X2
3 oteooe X =X+ JHXIAI 1
s ofdEd MAE HA (SH9 H2)
SA - FE - SRA(3H) - MRAE - BES Ofl &F2H I8N Hws2
Xl==1t 85,915,108 59,266,494 26,648,614
= 20,771,939 20,672,325 99,614
z 1,960,000 1,960,000 0
< 63, 183, 169 36,634, 169 26,549,000
St THoH Ol & ==X+ JIXIMI L 85,402,599 59,233,985 26,168,614
= 20,771,939 20,672,325 99,614
= 1,960,000 1,960,000 0
< 62,670,660 36,601,660 26,069,000
oldEd MAA A 50,742,660 29,233,660 21,509,000
XSt HH(H A H) (HEALY) 503,000 0 503,000
401 AIEHIYL 20| 503,000 0 503,000
01 AlZHI 500,000 0 500,000
O8Ad XYstHEEHI(HE) 500,000 0 500,000
03 Al R0HbI 3,000 0 3,000
OdAE XIgotE | (&HE) 3,000 0 3,000
Nt FEH(FHA(ZE)) (HEAY) 806,000 0 806,000
401 AlZBIL S THY] 806,000 0 806,000
01 AlZHI 800,000 0 800,000
O=&2(ZE) XLt (HE) 800,000 0 800,000
03 Al 20HHI 6,000 0 6,000
O=&Y(ZE) XNLstHFHI(HE) 6,000 0 6,000
NLSEEH(HE (2 H)) (D EAI) 806,000 0 806,000
401 AlEBIYL S THYI 806,000 0 806,000
01 Al&HI 800,000 0 800,000
OdE(8d) Xgatd™HI(HE) 800,000 0 800,000
03 Al 20HHI 6,000 0 6,000
Odd(8d) XNgatdFHI(HE) 6,000 0 6,000
NS HH (S EH) (HEAY) 2,097,000 0 2,097,000
401 AlZBIL LY 2,097,000 0 2,097,000
01 AlEZHI 1,797,000 0 1,797,000
ONEd XNYstEEEI(HE) 1,797,000 0 1,797,000
02 Zeld| 300,000 0 300,000
O~ed XYotEFHI(HE) 300,000 0 300,000
NLSEEH (2 A) (HEAIY) 4,294,000 0 4,294,000
401 AlEHIYL S THYI 4,294,000 0 4,294,000
01 Al&HI 3,940,000 0 3,940,000
OF LA XILotEEHI(HE) 3,940,000 0 3,940,000
02 Zeltl 344,000 0 344,000
OHYE XlotEAH|(&E) 344,000 0 344,000
03 Al 20HHI 10,000 0 10,000
OFYH XNYstEFHHI(&HE) 10,000 0 10,000
XIotEE Y| (S THAH Ol ) (R BHALY ) 36,001,080 22,998,080 13,003,000




SA X2
3 oteooe X =X+ JHXIAI 1
s ofdEd MAE HA (SH9 H2)
SA - FE - SRA(3H) - MRAE - BES Ofl &F2H I8N Hws2
403 X SHHMSAH=01H 36,001,080 22,998,080 13,003,000
01 AXISHHA =2 & 36,001,080 22,998,080 13,003,000
O XYoL (&HE) 3,000,000 2,000,000 1,000,000
OAEE - =LA XILoHEFH|(&E) 2,000,000 0 2,000,000
On3d XNLSEFHI(HE) 1,700,000 0 1,700,000
OS2d Kot EHI(HE) 2,000,000 1,000,000 1,000,000
O02d XNYstEEHI(&HE) 2,303,000 0 2,303,000
OEIAE XLotEFHI(HE) 2,000,000 0 2,000,000
Odsd =K+ XLoHEFH|(HE) 3,000,000 0 3,000,000
=X JHIXAM D & 2el2st 34,659,939 30,000,325 4,659,614
= 20,771,939 20,672,325 99,614
= 1,960,000 1,960,000 0
[ 11,928,000 7,368,000 4,560,000
oteztel Aedst 6,358,000 3,918,000 2,440,000
403 AXIEHMSA=Z0l1d 6,335,000 3,895,000 2,440,000
01 AXIEHHM A =EE 6,335,000 3,895,000 2,440,000
OXlgote FAE=At 2,555,000 1,505,000 1,050,000
OXIZotd St EHIAY 3,440,000 2,100,000 1,340,000
OXNYstE XILHE & 50,000 0 50,000
DGR ES(=21) 6,698,022 6,787,438 189,416
= 6,698,022 6,787,438 189,416
403 THXISHMSAH=01H 6,698,022 6,787,438 189,416
= 6,698,022 6,787,438 189,416
01 AXEMA2E = 6,698,022 6,787,438 189,416
O=Jtotd R+ 6,698,022 6,787,438 189,416
= 6,698,022 6,787,438 189,416
NYotd sXl2el At 3,970,000 3,450,000 520,000
401 AlEHIYL L THYI 3,670,000 3,150,000 520,000
01 Al&HI 3,650,000 3,150,000 500,000
OXlgotd Jl=AH= 1,850,000 1,350,000 500,000
03 Al 20HHI 20,000 0 20,000
OXIYsta JI2H & 20,000 0 20,000
BiZ Lok S2HI(=1) 2,411,917 2,222,887 189,030
= 2,411,917 2,222,887 189,030
403 XIS XH=01H 2,411,917 2,222,887 189,030
= 2,411,917 2,222,887 189,030
01 AXEMA2EE 2,411,917 2,222,887 189,030
©8.9.~8.11. EAZ LIcH S7HI(XIZ5tA) 189,030 0 189,030
= 189,030 0 189,030
X Yotd St FHIAI (IHH M SEHNRA) 1,600,000 0 1,600,000
403 X SHHMSAH=01H 1,600,000 0 1,600,000
01 AXISHHA =2 £ 1,600,000 0 1,600,000




2A:
X XH -
o e

=aak

Kl==1t
ot HoHOI Y X +=XHR JHXIMILL
A JHAHLD 2 2eldat

A -3 - SRA(3) - MRAY - BES Ofl &F2R 3 A BluEZ
| || oxgsia sic=biael AI2) 1,600,000 0 1,600,000
HPE S (X141 480,000 0 480,000
I ERE 480,000 0 480,000
N5t '22.8.8.~17. SLH=T 480,000 0 480,000
705 Ol -2 2|24t e 480,000 0 480,000
02 014201 XAt & 480,000 0 480,000
ONYSHH '2.8.8.~17. BL2UH=T 480,000 0 480,000




